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16-The football gameiis .................. Saturday .
a.in b. at c.on d.up
17-How do you write .8y L5 in English ?
a.Zucchini b.Pineapple c.Quince d.Coconut
18-What is your favorite drink ?
a.chicken b. orange juice c. chicken d. spaghetti

19-What is after thirteen ?

a.forty b. fourty c.fourteen d. forteen
20-The mechanicis ......ccueuuene.. my uncles car .
a.ready b. cooking c. fixing d. calling

21-What is the first day of the week in Iran ?

a.Monday b.Sunday c. Friday d. Saturday
22-How many months are there in a year ?

a.thirteen b.sixteen c.tweleve d. eleven

23-Who is that man ?

Which one ?

The fat manin ... :

a.a suit blue b.a blue c. a short d. a blue suit
24-What is after October ?

a.November b.December c. September d. April

25-How old is Mina ?



a.she has ten b. | have ten c.lamten d. she s
ten
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